
Reglas de Exponentes (C)

Simplifique cada expresión.

1. (−6)9 · (−6)−4 2. 9−5 · 9−7

3. (−2)1 · (−2)−8 4. 49 · 4−9

5. (−6)5 · (−6)−1 6. (−3)−9 · (−3)−3

7. 63 · 64 8. (−9)−7 · (−9)1

9. 2−1 · 2−9 10. 38 · 32
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Reglas de Exponentes (C) Respuestas

Simplifique cada expresión.

1. (−6)9 · (−6)−4

= (−6)5

2. 9−5 · 9−7

= 9−12 =
1

912

3. (−2)1 · (−2)−8

= (−2)−7 =
1

(−2)7

4. 49 · 4−9

= 40 = 1

5. (−6)5 · (−6)−1

= (−6)4

6. (−3)−9 · (−3)−3

= (−3)−12 =
1

(−3)12

7. 63 · 64

= 67

8. (−9)−7 · (−9)1

= (−9)−6 =
1

(−9)6

9. 2−1 · 2−9

= 2−10 =
1

210

10. 38 · 32

= 310
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